T&y\or Ser'\es
The. remainder form of o Taul .

e §O
foo The Yoylor senes ot o is & h.a) (x-a)"

"l i
Tal0)® Es (x-0) = $td + foy(x-cuy + Z)(‘w‘)z*--

IS -H\e, 4&\,'0( polxlnom.‘d a+ ‘o 010 ‘ctx) deﬂfaen
the ™ remaider Yerm in this eudion  Ra(x):F00-Ta(x)

F&CJ": Ih -Hwis S\“’\)&‘hﬁﬁ, Rn()() = S(mf;) (x )nﬂ

for some t' between ‘@ and “¥* (ShricHy in between)

Cheap exomyle3 e ?%(' for all x
gn Tn(X) J;'()r oll x

- Rn(x) 50 it's €nous\\ to show that
lim Ralx)=0

N-2co

‘)v‘ \tM Rnb() \‘Wl de I“(X"O)

if x>0 0e<tex

. X
:lim € ™ x20 0>t>x
"> (nH)!
1
O<ebcec e
gince " is aiacveasin
funchion ' ¢

‘ I\cl
()< )| nﬂ, \(M‘)\ xM-l

So ltM Lxﬂﬂ :O \s lIM Rn(X) =0
"0 ()t hpeo

>O asS N->co



Ne’ N use -\'his Jrechno\oay ‘\o ghow Jrhﬂ' e is irretional

SvVPOS&, por ‘\Me, sa¥e of arravmen-} -\’\\% e % s\or Some Posi# ve ‘lrﬁtﬁers alb
[Assume. 2" is ac)na“y rotional ]
P |'\ e |
AR
Tal) + Ral)) for all n

+ 704_{74
U*v z"r *’n)*’m)"’

e=¢ =

bu* e*‘e‘LZ (as e is 1 lncreo&ing)

30 O‘RnU) < _L%ﬂ—)!

PlOK h73b Then
z3
e:(trgrs *J‘)—vw),
n53
OC% (Lrdirz Torw) <B, U)“"“) nl 24
n'a 2! £5el

O On“ ) V\‘+ +——‘i’°°°)n'4h|RnU)< (llﬂ)‘

so Hhis meane ‘Hla"'—’ -(n!+ *“* o ) is an injreaer between 0 81,
w\\ich Can")' huwen.
-ﬂws ‘H\e, %Sum*mn%a{- e could b\m-)-t €- rvws’r be wronj s e S

icvational



